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WIER THCFEIEIR B E RN RRETER

% i 1R - BRHsE Bify ¥ B B & & W E
E R 3,625,850 + 73,423 3,699, 273
EEAGE 3,625, 850
EERR 73, 423
T Ot R {i 3,625,850 x 53.85% ( 35% + (1 — 35%)) 1,952,520
SR 3,699,273 + 1,952,520 5,651,793
—REERRE 5,651,793 x 53.85% ( 35% = (1 — 35%) ) — 5,283 3,038,207
KRG 5,651,793 + 3,038, 207 8, 690, 000
EERERLE 8,690,000 x 10.00% 869, 000
EBEAH 8,690,000 + 869, 000 9,559, 000




BERNRE AHCEEEREEEN BRI LR
2 o 1 - kTR B | i & & R
B[R 3, 699, 273
IERAEENERATER 3, 699, 273
IERAEENERAER 3, 699, 273
EREEEDERIER 3, 625, 850
FTEZE(E 448, 100
1 FHE - #fE .00 448,100 448,100
=
EHINEREE 282, 850
2 ERRERE .00 282, 850 282, 850
=
EENRZDORE 1,819, 900
EEEZDHEET - BREE .00 505, 700 505, 700
=
4 EHEDEE .00 537, 600 537, 600
2y
5 BRBEZSTOER .00 537, 600 537, 600
=
6 MEHEROMmMY EF&L O .00 239, 000 239, 000
E2y
REM 491, 500
1T ¥ ERREER .00 491, 500 491, 500
E2y
& - |E 583, 500




BERNRE AHCEEEREEEN BRI LR

% 5 B - KT BT % B B ® %8 B =

8 EATHE 1.00 126, 500 126, 500
[=]

9 hfEmE 2.00 126, 500 253, 000
[=]

10 M E 1.00 204, 000 204, 000
]

EEER 73,423

EHAMRE 30, 423

1 EBERAME 1.00 30,423 30, 423
=

EBREME 43,000

12 #BHRERE 1.00 43,000 43, 000
=




RIER- BT/ Svr—2 SH0E EBBEFENRRI LT
H#5 1
£ EHE - ECD)
% # e - R A B & ffi & i
T &
A 1.00 717, 500. 00 717,500
E FEFER (RET)
A 1.50 66, 900. 00 100, 350
i (A)
A 2.50 59, 600. 00 149, 000
i (B)
A 2.50 48, 500. 00 121, 250
& &t YEZRES - 1. 00 448, 100. 00 448,100
B5S:2
B ARSI EED)
% %fr\ s - RRHA Bifi & ff @ W%
i (A)
A 1.50 59, 600. 00 89, 400
HEm (B)
A 2.50 48, 500. 00 121, 250
i A
A 2.00 36, 100. 00 72, 200
& & fEZRES - 1. 00 282, 850. 00 282, 850
&S 3
2% RESOH - B 1240
% ﬁr\ ik - R A Bfi & fii & o=
EEHRE (A
A 2.00 66, 900. 00 133, 800
B (A)
A 3.00 59, 600. 00 178, 800
HEm (C)
A 3.00 40, 300. 00 120, 900
Hiffi A
A 2.00 36, 100. 00 12,200
a & YEZRES - 1. 00 505, 700. 00 506, 700
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THCFEEREEXENERETES

H5 4
¥ EROEHH IEED)
£ L3 R - BRTiE BAfL = i ) = i =
FAEHED GRED
A 2.00 66, 900. 00 133, 800
HEm (A)
A 3.00 59, 600. 00 178, 800
HEm (C)
A 2.00 40, 300. 00 80, 600
BT &
A 4.00 36, 100. 00 144, 400
& b YEZEREN : 1.00K 537, 600. 00 537, 600
&S5
¥ BRERSTOER IEED)
£ b R - ikTiE BAfL 2 i ) = 5 &
EXETACH)
A 2.00 66, 900. 00 133, 800
AR (A)
A 3.00 59, 600. 00 178, 800
HER (C)
A 2.00 40, 300. 00 80, 600
BT &
A 4.00 36, 100. 00 144, 400
& F YEZERED : 1. 00K 537, 600. 00 537, 600
S .6
& REBEROMY F& o 1K%Y
£ L3 R - BRTiE BAfL = i ) = i =
FAEHED GRED
A 1.00 66, 900. 00 66, 900
HEm (A)
A 1.00 59, 600. 00 59, 600
HEm (C)
A 1.00 40, 300. 00 40, 300
Hifr&
A 2.00 36, 100. 00 72, 200
& b YEZEREN : 1.00K 239, 000. 00 239, 000




REER-FET/ Svr—o AHCEEIER A LN RRAER

&5:1
2 EBTRREER IEED
£ b3 g - BARTiR Bifss #H = B @ & # = w5 &
EXEF L ACH)D)
A 1.50 66, 900. 00 100, 350
e (A)
A 2.50 59, 600. 00 149, 000
Em (B)
A 2.50 48, 500. 00 121, 250
FAEm (C)
A 3.00 40, 300. 00 120, 900
& it YEZERED : 1. 00K 491, 500. 00 491, 500
=8
2% BRltRE 2ED
£ b3 A& - MR iR Bifs H 2 B @ € % = s =
FEHEm GRET)
A 1.00 66, 900. 00 66, 900
AR (A)
A 1.00 59, 600. 00 59, 600
& it 1YEZAED - 1.00ME] 126, 500. 00 126, 500
&5 :9
& PREHRE HEEP;
£ i3 R - ARTR Bifs H 2 B @ & % = s &
FE AR GEED)
A 1.00 66, 900. 00 66, 900
AR (A)
A 1.00 59, 600. 00 59, 600
& Hi 1YEZHED - 1.00[E 126, 500. 00 126, 500




REER-FET/ Svr—o AHCEEIER A LN RRAER
H5:10
BF . BRI 1E%Y
2 # R - R A By B B # " =
B E
A 1.00 71, 500. 00 717, 500
AR (RED
A 1.00 66, 900. 00 66, 900
BEF (A)
A 1.00 59, 600. 00 59, 600
= it {EZgEH - 1.00[=] 204, 000. 00 204, 000
= : 11
& EHARE 1ty
2 # R - Bk A I B B i " =
EBRARE
= 1.00 30, 423. 00 30, 423
= B {EZfEH - 1.00=X 30, 423. 00 30, 423
H55:12
G XBRERE 1ty
2 # R - Bk A I B B i " =
EBRERE
= 1.00 43, 000. 00 43,000
= it {EZfEH - 1.00=X 43, 000. 00 43,000




